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22. For each of the following scenarios, state which way the equilibrium would shift in response to the change:

; AETBO <---> C@)

a. The reaction is endothermic and the temperature is increased. '~ 3;% ratBa ¢ Ri 3%""';

b. More A is added to the container. R\cjh-} '

¢. Some B is removed from the container. no glhyfd C.%_’s a b u;c'\,) N

d. 'thereaction is excthermic and the temperature is increased. ATR = Crheat Lett

e. More C is added to the container. Lebt

£ Some A is removed from the container. | ¢{ 4 )

g The reaction is endothermic and the temperature is decreased. L€ '('+

23. For each of the following scenarios, state which way the equilibriurn would shiff In response to the change:

A <—-> B{g) + C(g) +heat AH<Q = exoihermic

a. Temperature is increased, Le £+

b. More C is added to the contaiver. Le (4

¢. Some B is removed from the container. Right

d. Temperature is decreased. RigWhd S _ ;
e. More A is added to the container. e dadt  (its a lige ‘.c!-}

24. For each of the following scenarios, siate which way the equilibrium would shift in response to the change:

he«d H2A(g) + B(g) <——-> 2C( A0 endethermic
Some B is removed from the container. et 4
Temperature is increased. 2 qht -

More C is added to the container. Led+
Temperature is decreased. Lo{+
¢. More A 1s added to the container. gt
. Under what circumstances would changing the teriperature cause a shiit toward the reactants? A
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26. What are some steps a manufacturer ccéx}'d take fo cause a shif foward products and increase their profit?
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